AEHERRE I B2 12 = 8998 - EREER
58198
[ B2NE ] BFIki5
Xe&% [ BT2RIEREESEFZREARETAES HABTFEKEFER ]
[F1:45] ( 3LIATEE ) (8:48 ~ 10:56) 8Ea—IILK

F— L% 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 E

EIR 3 0 3 0 0 0 0 0 6

= e 0 0 1 0 2 3 0 7 X 13
BB =R ZiaRd R

" F MWF JR ® F  iEH P A

W F Al B F KK

AEFT AEFT

=247 R =2%7 =15

—2¥] WIR —2¥T  EHE 5

(R SE)

[ZE2:HE] ( RES ) (11:36 ~ 12:51) 5@a—LFK

F— L% 1 2 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15 Bl
FIR 4 0 1 7 4 16
BlkErg | 0 0 0 0 0 0
57 =1 LTt R

% F IO 5 F AP

m F 20 B F B

KR KRBT

=84 =277

=17 E2H —247

[fw= - %5&c)
PR/ —kby b/ —F> (5EB#)
B hRER (1 0KEEH3 8EE) FR- BIERFEIZ, 6815 16 HOEEREICHS




